= BARRACUDA

ASSEMBLING INSTRUCTION

FAIRING COVER

F-CAP

WWW_BARRACUDAMOTO.COM

LEGEND

. FAIRING COVER

COVER FORO SPECCHI

CUBIERTA AGUJERO ESPEJO
SPIEGELLOCHABDECKUNG
COUVERCLE DES TROUS DE MIROIR

. ALLEN SCREW M6X10

VITE A BRUGOLA M6X10
TORNILLO ALLEN M6X10
INBUSSCHRAUBE M6X10
VIS ALLEN M6X10




